Victor Champion Cup ( Match 10)

Noble VS OzOne
Noble OzOne OzOne Noble
N| Green |E|Burgess]N|Marston |E| Brown
S| Peake |W|Del'Monte]S | Prescott |W|Kanetkar

BoardfContract | by |M|D| N-S|E-WJContract| by |M|{D| N-S|E-W} IMPs
1] 24 [E|2 110} 39 [N |4| [170 7
2 J3NT |E |4 430 3NT (E |3 400 1
3 |3NT|N|6| [490 3NT [N |5| |460 1
4 §3NT [N |3| |600 3NT [N |4| |630 1
5] 44 |E |6 480 44 (E |5 450 1
6] 44 (W|6 680 64 (W|6 14304 13
7149 |S|4| [620 39 [N|3| [140 10
81 34 |E| |2]100 3¢ N[ |1 50 4
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10] 44 | S |4| |620 3NT [N |4| |630 - | -
11] 3% |E 1| 50 3% E|4 130§ 5
123 2¢ |W| (2]100 26 [N |2| |110 - | -
13] 44 [N |7| |710 46 |S|[5| [650 2
14] 54 |E |5 450 54 (E |6 480 1
15 5¢ |E |5 400f INT (W |3 150 6
164 4 | S 1 50 34 [N |3| |[140 5
42121
IMPs Noble OzOne
This segment 42 21
Penalty o) o)
Carryover 0] 0]
Total 42 21
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